STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING,
CHENNAI - 6.

BIO-ZOOLOGY -1
CLASS: 11

Time Allowed: 1.15 Hours Maximum Marks: 35
Instructions:

i. Check the question paper for fairness of printing.

ii. Use Blue or Black ink to write and underline and pencil to draw diagrams:
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SECTION - I (8X1=8)

Note: i. Answer all the questions.
ii. Each question carries 1 mark.
Choose the most suitable answer from the given four alternatives and
write the option code and the corresponding answer.
iii. Write the correct answer for the questions without options.
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1. Arrange the following organisms on the basis of five kingdom system of
classification.
1. Mushroom 2. Mycobacterium 3. Plasmodium

4. Jelly fish 5. Mango tree

(@) 2,3,1,5and 4 (b) 1,2, 3,5 and 4
(c)2,3,4,5and 1 (d) 2,3,1,4and 5
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2. Given below are animals and their respiratory organs. Find the pairs which are

wrongly matched.

(A) Silver fish
(B) Scorpion
(C) Sea Squirt

Trachea

Lungs

Pharyngeal gills

(D) Dolphin - Skin
(@) Aand B (b)Band C
(c)CandD (d)Band D
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3. Match Column -l with Column -Il and choose the correct option

Column - Column -l
(P) Kwashiorkor - (i) Indigestion’
(Q) Pernicious anaemia - (i) Bile pigments increses in blood
(R) Hepatitis - (iii) Malnutrition
(S) Constipation - (iv) Cyanocobalamine deficiency



a) P-iii, Q-iv, R-ii, S-i b) P-iv, Q-iii, R-ii, S-i
c) P-ii, Q-iii, R-iv, S-i d) P-i, Q-iii, R-iv, S-i
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4. Which of the following factors is favourable for the formation of

oxyhaemoglobin in alveoli?
a. High PO2 b. High temperature
c. More H* concentration d. High PCO2
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5. The qualities of Red muscle fibres are

They have more number of mitochondria
They have more oxidative phosphorylation capacity

They have more number of glycolytic enzymes

D wDdh -

They do not have myoglobin
a) 1and 2 are correct b) 1 and 3 are correct

c) 1 and 4 are correct d) 3 and 4 are correct
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6. Match the bones of ribcage with their number

1. Vertebro-sternal ribs

2. Vertebro-chondral ribs

3. Vertebral ribs
a. 1(i), 2(ii) and 3(iii)
c. 1(ii), 2(iii) and 3(i)
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- i) 11t and 12t pair
- i) first 7 pairs
- i) 8th, 9th and 10t pair

b. 1(ii), 2(i) and 3(iii)
d. 1(iii), 2(ii) and 3(i)
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7. Match the species of silk moth with their preferred food

P. Bombyx mori

Q. Antheraea assamensis
R. Antheraea mylitta

S. Attacus ricini

P Q
a) i i
b) i ii
C) i iii

i) Champa
ii) Mulberry
iii) Caster

iv) Arjun
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8. In induced breeding technique the fertilised eggs are removed from the spawning
place and kept in rectangular enclosures called
a. Rearing Pond b. Nursery Pond
c. Hapa d. Pens
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SECTION - II (4X2=8)

Answer any four of the following.
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9. Most of the animal tissue junctions provide both structural and functional links. Name

any two types of junctions and write their functions.
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10. ‘Earthworms are called biological indicators of soil fertility’ — Justify
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11. a) What is reverse peristalsis?

b) Which part of the brain controls this process?
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12. Name the allergens which cause asthma.
12. gpsviorens TpLUGHsE iy  paeurmopdd « Awahop .
13. Skeletal tissue is a haemopoietic tissue.- Justify your answer
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14. a) Where do you find canal of Schlemm?

b) Write down its function.
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SECTION - III
(3X3=9)
Answer any three of the following. Question No. 18 is compulsory.
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15. A) Identify who am | using the given clues.
I) a) Preserved plants and animals are kept here for study and
reference.
b) Both living and extinct forms can be studied here.
II) a) These are the places where wild animals are protected.
b) It enables us to study their food habits and behaviour.
B) Identify the taxonomic tools using the hints given below.

Sound of bird and bio-luminescence
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16. Name the receptor organs of earthworm. Add a note on their location.
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17. Indicate whether the statement is true or false.
a) The solubility of ammonia in water is higher than urea.
b) ADH helps in water elimination, making the urine hypotonic.
c¢) Juxta medullary nephrons have very short loop of Henle.
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18. a) Write the parts labelled A,B,C and D in the given diagram.
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b)The thick bundle of elongated nerve roots within the lower vertebral canal is
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19. List any three common uses of shellac.

19. Glagsvsurdalsh Lwsitds  aBssmy  apsrlemen BN

SECTION - IV
Answer all the questions
Smenha  allsrrdsemd s allew L werfl.
20. a) What are hemichordates?

b) How do they differ from other chordates?

c) Explain the characteristic feature of this phylum with suitable examples.

(OR)
a) What is cardiac cycle
b) Explain the events of cardiac cycle.
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21. a) Where is pineal gland located?
b) Name the hormone secreted by the gland.
c) Specify the major functions performed by the hormone.
(OR)

(2X5=10)
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Briefly explain the steps involved in insertion of nucleus in pearl culture.
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